[bookmark: _GoBack]SPSS code for checking entry errors on the SIC 

If a participant had marked frequency but not severity, they will have a “1” for the variable errorseve(item number)
If a participant had marked severity but not frequency, they will have a “1” for the variable errorfreq(item number)

*SIC Error checking.
vector freq = sicf1 to sicf33.
vector seve = sicv1 to sicv33.
vector errorfreq(33).
vector errorseve(33).
Loop #count = 1 to 33.
Do if (freq(#count)>0 and seve(#count)=0).
compute errorseve(#count)=1.
else if (freq(#count)=0 and seve(#count)>0).
compute errorfreq(#count)=1.
end if.
end loop.
EXECUTE .

FREQUENCIES VARIABLES=errorfreq1 errorfreq2 errorfreq3 errorfreq4 errorfreq5 errorfreq6 errorfreq7 
    errorfreq8 errorfreq9 errorfreq10 errorfreq11 errorfreq12 errorfreq13 errorfreq14 errorfreq15 
    errorfreq16 errorfreq17 errorfreq18 errorfreq19 errorfreq20 errorfreq21 errorfreq22 errorfreq23 
    errorfreq24 errorfreq25 errorfreq26 errorfreq27 errorfreq28 errorfreq29 errorfreq30 errorfreq31 
    errorfreq32 errorfreq33 errorseve1 errorseve2 errorseve3 errorseve4 errorseve5 errorseve6 
    errorseve7 errorseve8 errorseve9 errorseve10 errorseve11 errorseve12 errorseve13 errorseve14 
    errorseve15 errorseve16 errorseve17 errorseve18 errorseve19 errorseve20 errorseve21 errorseve22 
    errorseve23 errorseve24 errorseve25 errorseve26 errorseve27 errorseve28 errorseve29 errorseve30 
    errorseve31 errorseve32 errorseve33
  /ORDER=ANALYSIS.

